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“ r u e '0 r F qa ‘ s e ? Area of a pardllelogram

False

We need to know the perpendicular height of the

parallelogram to find the area.

6 cm
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frue or False ?

False

For every 2 red cushions there are 6 yellow so if
there were |0 red cushions there would be 30

yellow ones.
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frue lor False ?

False

One bottle will make 5 litres of cordial so Amir
needs 3 bottles to make IS litres.
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Tfrue or False ? Introducing the ratio symbol

True

3:2:1

For every 3 red counters there are 2

blue and | yellow.




